

TABLE C-1 POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents							Fellows	Total
	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Family Medicine	41						41		41
Emergency Medicine (CFPC)		4					4		4
Care of the Elderly (CFPC)		1					1		1
Enhanced Skills: Other Fam. Med. Training		2					2		2
FAMILY MEDICINE SUBTOTAL	41	7					48		48
Anesthesiology				3			3	1	4
Critical Care (Anes.)					1		1		
Dermatology				1			1		
Diagnostic Radiology				3			3		;
Emergency Medicine (Royal College)				1			1		,
Critical Care (Int.Med)					1		1		,
Endocrinology/Met. (Int.Med.)				1			1		
General Internal Medicine			2				2		:
Hematology (Int.Med.)				1			1		
Infectious Diseases (Int.Med.)				1			1		
Pediatrics			3				3		;
Physical Medicine & Rehab.				1			1		
Psychiatry				4			4	2	
MEDICAL SPECIALTIES SUBTOTAL			5	16	2		23	3	2
Anatomical Pathology			1	1			2		:
Hematological Pathology			1				1		
LAB MEDICINE SPECIALTIES SUBTOTAL			2	1			3		;
General Surgery								1	
Critical Care (Surgery)						1	1		
Neurosurgery					2		2		:
Obstetrics/Gynecology				4			4		
Ophthalmology				3			3		
Otolaryngology - Head and Neck Surgery				1			1		
Orthopedic Surgery				2			2		:
Plastic Surgery				1			1		
SURGICAL SPECIALTIES SUBTOTAL				11	2	1	14	1	15
Total	41	7	7	28	4	1	88	4	92



TABLE C-2 POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Post-M.D. Training	Female		Male		Total	
	Count	Row %	Count	Row %	Count	Row %
Family Medicine	30	73.2%	11	26.8%	41	100.0%
Emergency Medicine (CFPC)			4	100.0%	4	100.0%
Care of the Elderly (CFPC)			1	100.0%	1	100.0%
Enhanced Skills: Other Fam. Med. Training	2	100.0%			2	100.0%
FAMILY MEDICINE SUBTOTAL	32	66.7%	16	33.3%	48	100.0%
Anesthesiology	1	25.0%	3	75.0%	4	100.0%
Critical Care (Anes.)			1	100.0%	1	100.0%
Dermatology	1	100.0%			1	100.0%
Diagnostic Radiology	2	66.7%	1	33.3%	3	100.0%
Emergency Medicine (Royal College)			1	100.0%	1	100.0%
Critical Care (Int.Med)	1	100.0%			1	100.0%
Endocrinology/Met. (Int.Med.)			1	100.0%	1	100.0%
General Internal Medicine	1	50.0%	1	50.0%	2	100.0%
Hematology (Int.Med.)	1	100.0%			1	100.0%
Infectious Diseases (Int.Med.)			1	100.0%	1	100.0%
Pediatrics	3	100.0%			3	100.0%
Physical Medicine & Rehab.	1	100.0%			1	100.0%
Psychiatry	5	83.3%	1	16.7%	6	100.0%
MEDICAL SPECIALTIES SUBTOTAL	16	61.5%	10	38.5%	26	100.0%
Anatomical Pathology	2	100.0%			2	100.0%
Hematological Pathology			1	100.0%	1	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	2	66.7%	1	33.3%	3	100.0%
General Surgery	1	100.0%			1	100.0%
Critical Care (Surgery)			1	100.0%	1	100.0%
Neurosurgery	1	50.0%	1	50.0%	2	100.0%
Obstetrics/Gynecology	3	75.0%	1	25.0%	4	100.0%
Ophthalmology			3	100.0%	3	100.0%
Otolaryngology - Head and Neck Surgery			1	100.0%	1	100.0%
Orthopedic Surgery	1	50.0%	1	50.0%	2	100.0%
Plastic Surgery	1	100.0%			1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	7	46.7%	8	53.3%	15	100.0%
Total	57	62.0%	35	38.0%	92	100.0%



TABLE C-3

POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2014) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Post-M.D. Training	New Entry		Re-entry		Total	
	Count	Col %	Count	Col %	Count	Col %
Family Medicine	41	46.1%			41	44.6%
Emergency Medicine (CFPC)	3	3.4%	1	33.3%	4	4.3%
Care of the Elderly (CFPC)			1	33.3%	1	1.1%
Enhanced Skills: Other Fam. Med. Training	2	2.2%			2	2.2%
FAMILY MEDICINE SUBTOTAL	46	51.7%	2	66.7%	48	52.2%
Anesthesiology	3	3.4%	1	33.3%	4	4.3%
Critical Care (Anes.)	1	1.1%			1	1.1%
Dermatology	1	1.1%			1	1.1%
Diagnostic Radiology	3	3.4%			3	3.3%
Emergency Medicine (Royal College)	1	1.1%			1	1.1%
Critical Care (Int.Med)	1	1.1%			1	1.1%
Endocrinology/Met. (Int.Med.)	1	1.1%			1	1.1%
General Internal Medicine	2	2.2%			2	2.2%
Hematology (Int.Med.)	1	1.1%			1	1.1%
Infectious Diseases (Int.Med.)	1	1.1%			1	1.1%
Pediatrics	3	3.4%			3	3.3%
Physical Medicine & Rehab.	1	1.1%			1	1.1%
Psychiatry	6	6.7%			6	6.5%
MEDICAL SPECIALTIES SUBTOTAL	25	28.1%	1	33.3%	26	28.3%
Anatomical Pathology	2	2.2%			2	2.2%
Hematological Pathology	1	1.1%			1	1.1%
LAB MEDICINE SPECIALTIES SUBTOTAL	3	3.4%			3	3.3%
General Surgery	1	1.1%			1	1.1%
Critical Care (Surgery)	1	1.1%			1	1.1%
Neurosurgery	2	2.2%			2	2.2%
Obstetrics/Gynecology	4	4.5%			4	4.3%
Ophthalmology	3	3.4%			3	3.3%
Otolaryngology - Head and Neck Surgery	1	1.1%			1	1.1%
Orthopedic Surgery	2	2.2%			2	2.2%
Plastic Surgery	1	1.1%			1	1.1%
SURGICAL SPECIALTIES SUBTOTAL	15	16.9%			15	16.3%
Total	89	100.0%	3	100.0%	92	100.0%

^{*} New Entry - trainees assumed to be entering practice for the first time Re-entry - trainees assumed to be re-entering practice



TABLE C-4 POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country	Legal Status					
M.D. Country	CC/PR*	Visa	Total			
Australia	1		1			
Cayman Islands	1		1			
Croatia	1		1			
Egypt	1		1			
Grenada	3		3			
India	1		1			
Iran	2		2			
Ireland	2		2			
Macedonia	1		1			
Oman		2	2			
Poland	1		1			
Saba	2		2			
Saint Kitts and Nevis	3		3			
Saudi Arabia		8	8			
Sint Maarten	1		1			
Tunisia	1		1			
Ukraine	1		1			
United Arab Emirates		1	1			
United Kingdom	1		1			
United States of America	1		1			
Total	24	11	35			

CC/PR: Canadian Citizens and Permanent Residents



TABLE C-4A POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Poet M.D. Training	Legal Status				
Field of Post-M.D. Training	CC/PR*	Visa	Total		
Family Medicine	12		12		
Emergency Medicine (CFPC)	1		1		
FAMILY MEDICINE SUBTOTAL	13		13		
Anesthesiology	2		2		
Diagnostic Radiology	1	2	3		
Neuroradiology		1	1		
General Internal Medicine	3	1	4		
Geriatric Medicine (Int.Med.)	1		1		
Medical Oncology (Int.Med.)	1		1		
Rheumatology (Int.Med.)	1		1		
Pediatrics		2	2		
Neonatal-Perinatal Med. (Ped.)		1	1		
Child and Adolescent Psychiatry	1		1		
MEDICAL SPECIALTIES SUBTOTAL	10	7	17		
Hematological Pathology	1		1		
Transfusion Med. (Hem.Path.)		1	1		
Medical Microbiology		1	1		
LAB MEDICINE SPECIALTIES SUBTOTAL	1	2	3		
Ophthalmology		1	1		
Orthopedic Surgery		1	1		
SURGICAL SPECIALTIES SUBTOTAL		2	2		
Total	24	11	35		

CC/PR: Canadian Citizens and Permanent Residents



TABLE C-5

POST-M.D. TRAINEES EXITING MARITIME TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED)

FIELD OF POST-M.D. TRAINING BY RANK

Field of Post-M.D. Training	Resid	lents	Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Family Medicine	53	100.0%			53	100.0%
Emergency Medicine (CFPC)	5	100.0%			5	100.0%
Care of the Elderly (CFPC)	1	100.0%			1	100.0%
Enhanced Skills: Other Fam. Med. Training	2	100.0%			2	100.0%
FAMILY MEDICINE SUBTOTAL	61	100.0%			61	100.0%
Anesthesiology	4	66.7%	2	33.3%	6	100.0%
Critical Care (Anes.)	1	100.0%			1	100.0%
Dermatology	1	100.0%			1	100.0%
Diagnostic Radiology	3	75.0%	1	25.0%	4	100.0%
Emergency Medicine (Royal College)	1	100.0%			1	100.0%
Critical Care (Int.Med)	1	100.0%			1	100.0%
Endocrinology/Met. (Int.Med.)	1	100.0%			1	100.0%
General Internal Medicine	5	100.0%			5	100.0%
Geriatric Medicine (Int.Med.)	1	100.0%			1	100.0%
Hematology (Int.Med.)	1	100.0%			1	100.0%
Infectious Diseases (Int.Med.)	1	100.0%			1	100.0%
Medical Oncology (Int.Med.)	1	100.0%			1	100.0%
Rheumatology (Int.Med.)	1	100.0%			1	100.0%
Pediatrics	3	100.0%			3	100.0%
Physical Medicine & Rehab.	1	100.0%			1	100.0%
Psychiatry	4	66.7%	2	33.3%	6	100.0%
Child and Adolescent Psychiatry	1	100.0%			1	100.0%
MEDICAL SPECIALTIES SUBTOTAL	31	86.1%	5	13.9%	36	100.0%
Anatomical Pathology	2	100.0%			2	100.0%
Hematological Pathology	2	100.0%			2	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	4	100.0%			4	100.0%
General Surgery			1	100.0%	1	100.0%
Critical Care (Surgery)	1	100.0%			1	100.0%
Neurosurgery	2	100.0%			2	100.0%
Obstetrics/Gynecology	4	100.0%			4	100.0%
Ophthalmology	3	100.0%			3	100.0%
Otolaryngology - Head and Neck Surgery	1	100.0%			1	100.0%
Orthopedic Surgery	2	100.0%			2	100.0%
Plastic Surgery	1	100.0%			1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	14	93.3%	1	6.7%	15	100.0%
Total	110	94.8%	6	5.2%	116	100.0%